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College Prep Algebra
Lesson: April 16, 2020

Objective/Learning Target:
How to solve logarithmic equations with exponentials



Let’s Get Started:
Exponentials and Logarithms are INVERSE Functions.
That fact makes the equations below

express the exact same thing!

173 = 4913 log,-4913 =3
Seventeen multiplying 4913 repeatedly divided
itself three times by seventeen makes
creates 4913. three—so three

seventeens make 4913.



Lesson:
To learn how to solve logarithmic equations, you will need

to remember your properties of logarithms from the
lesson on 4/14.

Watch these videos below to see how to solve logarithmic
equations.

e Video 1

e Video 2 watch and stop at 7:51

e Video 3 watch from 5:23 to 9:45



https://www.youtube.com/watch?v=59j0ALU3N7k
https://www.youtube.com/watch?v=kaga-7Y44qc
https://www.youtube.com/watch?v=rBnQiLa2TYo

Practice: Use the calculator linked here.
Scientific Calculator

Work the problems on a sheet of paper. Then review
the worked solutions on the following slides.

Solving Logarithmic Equations with Exponentials



https://www.desmos.com/scientific
https://drive.google.com/file/d/1dU2KgrBGuHZUQo9JfhzOFzfmoFhyvImT/view?usp=sharing
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Additional Practice

More Practice Problems with Answers:
SKIP #13-18



https://drive.google.com/file/d/1mfWRfs1Tj3NRppUJc7ZnST6mIjS6lbwT/view?usp=sharing
https://drive.google.com/file/d/1mfWRfs1Tj3NRppUJc7ZnST6mIjS6lbwT/view?usp=sharing

